690 RALLY FACTORY REPLICA 2009 <2009><EU><9799I8>

SHOCK ABSORBER
4364
AUSGLEICHSSCHEIBE
ADJUSTMENT SHIM
® ¢ O
. ®
> ol
e N
L 3 =
¢ = k;;"y
.:"(S:s?
Pos Part Number Description Additional Text Quantity
1* 12187E17 MONOSHOCK 690 RALLY 09 1.00
13 50233041100 PAIR OF WASHERS M10 NORDLOCK 2.00
14 0912101303 ALLEN SCREW DIN0912-M10X130 1.00
15 56503093000 SPECIAL SCREW M10X55 WS=17 1.00
16* 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 2.00
17 54630044000 COLLAR NUT M10 WS=13 1.00
18 76230044000 COLLAR NUT M10 TURNED 1.00
19 76203030000 SHIM 10X24X1 0.00

* = New part



